
tftH /Question Booklet No

5113057

2324 Wi
Series

POLITICAL SCIENCE

Tjir

Candidate should write

Roll No. in the given boxes.

ai^giiTtg?

RoUNo.

of Printed Pages : 40

?PR/Time : 3 ̂TJ^/Hours

^^^R^^^hWTotal No. of Questions : 150
^JJTf^/Tptal Marks : 600

3R=Tm, aTTf^^T"^ I I

2. wwr-5f^^^Tr5pftf^f^^^Wto^l50 3Rq"ti^m1I^W5TMvrm^tlF»ft5R^a*n<tl

4. ^H<Hi (3fr.'Q?T.aTK.?fte) yl^fa^T<*>t, |

HM«t> ♦HI'll 'ailk.^lt I

INSTRUCTIONS TO THE CANDIDATES

1. Immediately after the commencement of the examination, you should check that this Question
Booklet does not have any unprinted or torn or missing pages or items etc. If so, immediately contact
the Invigilator and get it replaced with another Question Booklet.

2. This Question Booklet contains total 150 questions of Political Science. All questions are in Hindi
and English languages. AH questions are compulsory.

3. Read carefully the instructions given on the Answer Sheet (OMR Sheet) supplied and indicate your
answers accordingly.

4. IQndly make necessary entries on the Answer Sheet (OMR Sheet) at the places indicated and
nowhere else.

5. Examinee should do all rough work on the space meant for rough work on pages given at the end
of the Question Booklet and nowhere else, not even on the Answer Sheet (OMR Sheet).

6. If there is any sort of mistake either of printing or of factual nature in any question, then out of the
Hindi and English versions of the question, the Hindi version will be treated as standard.

2324 ( 1-A)



B&IS

1.

^I ^11
©v ©V

(i) H^\4 1. tTWTTtM

(ii) 2. JHMW

(iii) 3.

(iv) <l'^Rcll 4. 3Rf^^

Cv

(A) (i)-I,(ii)-3,(iii)-4.(iv)-2

(B) (i)-4, (ii)-3, (iii)-1, (iv)-2

(C) (i)-3,(ii)-4.(iii)-2,(iv)-l

(D) (i)-l,(ii)-4,(iii)-2,(iv)-3

2. to ^ to ̂

fw ̂  ^ ^ ̂ ̂rfb^rfw

t?

(A)

(C) tofto^TTOWTT
(D) fito

MHMldlSTT?

(A)

(B) ci^r^r

(C) sr^htowT
(D)

4. tof^rto # ̂ to Ri<diid4)K # T^tof ̂

Ri«&m HHi '^iicii

t?

(A)

(B)

(C) «t)l®an

(D)

T-^' HHl vjildltoMdil^H^

t?

(A) ̂ HdiKlcHch (^TT%)
(B) : TTsito ton ̂  #

(C)

(D) 3qto(fto^9^

tof^rto # ̂ tô  ^ T3=f7 ̂  oZT^^ %

^ t ̂RiTT, ̂  % tox^ % tow ̂  sT^i#
^t?

(A) %.TW.
(B) "jfrr

(C)

(D) ̂ n^^sfeR

^ tocT ̂  toicf't ?

(A)

(B)

(C) ^lsblH4)dl

(D) todlcfTT^to

Mricjtfr^ toRT%^ ^ to%

(A) RR.

(B) ̂ .^.Rwitoto

(C) ^3^. <|t|l<^wJH

(D)

to% ̂RR % tolR t totcT' #

t?

(A) ̂ TTRKto

(B) ml

(C) ato^tR
(D) Rto

aR^RRTT
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1.

2.

Match List I with List II and select the correct

answer from the codes given below :

List I List II

(i) Mahad Satyagraha 1. Mahatma Gandhi

(ii) The Synthesis of 2. Savarkar

Yoga

(iii) Abhinav Bharat 3.

(iv) Father of Nation 4.

Ambedkar

Aurobindo

Chose

Codes:

(A) (i)-l,(ii)-3,(iii)-4,(iv)-2

(B) (i)-4, (ii)-3, (iii)-1, (iv)-2

(C) (i)-3, (ii)-4, (iii)-2. (iv)-l

(D) (i)-l,(ii)-4,(iii)-2,(iv)-3

Which medieval political thinker defines law as
'an ordinance of reason for the common good' ?

(A) St. Augustine

(B) St. Thomas Aquinas

(C) Marsilius of Padua

(D) Cicero

The Church was considered superior to State in
the medieval times due to its capability of
securing which of the following ends of man ?

(A) Natural end

(B) Temporal end

(C) Supematural end

(D) Spatial end

The works of which of the following theorists are
considered to have helped in the revival of the
political theory ?

(A) David Easton

(B) Leo Strauss

(C) Alfred Cobban

(D) C.B. Macpherson

Which publication is considered as
"Behaviouralism's Manifesto" ?

(A) Introduction to Positive Philosophy (Comte)

(B) The Political System •: An Inquiry into the
State of Political Science (David Easton)

(C) The New Science of Politics (Voegelin)

(D) An Epilogue (Leo Strauss)

Who of the following understood democracy as a
system which allows for the development of an
individual's personality ?

(A) J.S. Mill

(B) T.H. Green

(C) Charles Merriam

(D) George Catlin

Which one of the following is a "liberty limiting
principle" according to J.S. Mill ?

(A) Harm to self

(B) Harm to others

(C) Offensiveness

(D) Harmless wrong doing

Who was the chief architect of the Second

Five-Year Plan, which led to rapid
industrialization in India ?

(A) M. Visvesvaraya

(B) P.C. Mahalanobis

(C) S. Radhakrishnan

(D) C.D. Deshmukh

Whose theory of justice

"Difference Principle" ?

(A) John Rawls

(B) Robert Nozick

(C) Amartya Sen

(D) Hayek

propounds the
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10. RnldRdd

^t?

1. ^ ^ o^rfrPTcr sfk

2. I

3. <N-flid=h

d^lchi 4)1 <>Mi<&m chicil % I

4. <N41fclct) ^4Wl-^PTmR% yfd dl'll %

vd

cUir^m:

(A) %^l,23fR:3B^t

(B) %^^2,33^4^t

(C) %^l,3 3fR:4H^t

(D) %^1,2 3^4^1

11. [^y.'iy.'t:

^SR I : 3TT^ ̂ ^TR*RW

t, 1^1^ OT TI^Fftf^ ̂ RffM ̂  W WTI

3TtT«l4dMldltl

<iM44d ^=5^ % 3TT^ #, ̂  ^
sD '

cQl^u.:

(A) I

(B) 13:ft^ II did! JMd # I

(C) I

(D) ̂ iSRlTT^t,erf^^iSRn¥^tl

12. T^l^%3™R,TOR%^^Tf^3R?TT^^-W
HuRich <3l2=til«Jl, Ifll'yctil cQ 31T^K«Hdl% ?

(A) cT^, 1^^, 3Tk -iry 15

(B) ?TW,

(C) 3TI^,lTr!m,1^MF3^XTf^

(D) ̂ fn^,3igYR,^^3^3TteK

13. 3TT^ 3^ % 31^, TTSFftf^ feRT #

1. <N41[d<+) c^d^^WI^Tldl

2.

3. ^Pi«M

4. cil[^«Q«t)<."i

^41 3d<^-d4H -^II^IJ.:

(A) 1,2 3^3^1

(B) %^2,33;^4^T^f

(C) %^I.3 3^4^t

(D) %^l,23fk4^t

14. Rl4ldl^ #

3OTW^cnR4t:

1. M^-qM % M5"^M

2. 3Tf^RTcr-^ ^ Trtf^ ̂ Mfldl^ t ̂

iM-Ufd^h^Hfldl^^MRdJn

3. R^Id-3TT^iRcl f^cl<'J|^3M(rlfo'^-3n%iiRd I^cK^l

# qRd^n

4. ^-3TT^iRa H^-cin

(A) 23^3^1

(B) %^l,23fk4^t

(C) %^3 3^4B^t

(D) %^23^4^t

2324 (4-A)



10. Whicli of the followmg statements are correct
about political culture ?

1. It is a pattern of individual attitudes and

orientations toward politics.

2. Political culture is not related to values.

3. Political culture explains different patterns of

political opposition.

4. Political culture denotes people's orientation

to problem-solving.

Choose the correct answer :

(A) Only 1,2 and 3 are correct

(B) Only 2, 3 and 4 are correct

(C) Only 1, 3 and 4 are correct

(D) Only 1,2 and 4 are correct

11. Given below are two statements:

Statement I : Gabriel Almond coined the term

"Political Socialisation".

Statement II : Almond and Powell Jr. define

political socialisation as the process by which

political cultures are maintained and changed.

In the light of above statements, choose the

correct option:

(A) Both Statement I and Statement 11 are
corrrect.

(B) Both Statement I and Statement n are

incorrrect.

(C) Statement I is correct, but Statement II is

incorrect.

(D) Statement I is incorrect, but Statement II is

correct.

12. According to Finer, which mental attitude of

people forms the basis of the legitimacy of rulers
in the four forms of governance ?

(A) Argument, Opposition, Support and
Enthusiasm

(B) Fear, Faith, Emotion and Wisdom or Interest

(C) Command, Control, Trust and Power

(D) Morality, Experience, Leadership and
Authority

13. What is correct about the characteristics of

Political Development according to Almond and

Powell ?

1. Political System Autonomy

2. Sub-system Autonomy

3. Role Differentiation

4. Secularisation

Choose the eorrect answer:

(A) Only 1, 2 and 3 are correct

(B) Only 2, 3 and 4 are correct

(C) Only 1, 3 and 4 are correct

(D) Only 1, 2 and 4 are correct

14. According to Leonard Binder, the concept of
political development implies:

1. Change of identity from parochial to

societal

2. Change from elite political participation to

mass political participation

3. Change from status-based distribution to

achievement-based distribution

4. Religion-based identity

Choose the correct answer :

(A) Only 1,2 and 3 are correct

(B) Only 1,2 and 4 are correct

(C) Only 3 and 4 are correct

(D) Only 2 and 4 are correct
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15. T'WklW

(A) «lldltJI(i

(B)

(C)

(D)

16. ^ ̂  2021 - 2022 ̂  if
\3

2023 - 2024 #
S3 Cs ' S3 ̂

^Flf % % "f^ STR^r

?

(A) 45

(B) 50-42

(C) 48-33

(D) 28-65

1. Hd^ddld % ll^dl4> d4l^ 3lil%3ljdH -4<u| if t|

2. 3^^!^ H^Hld TNlPld il'^l 4f^41 ̂
tTT3TJ^T^ 37f^^?TRt ̂  ̂Fft^

I

^?SH ̂  3^ W1^ nrr ?

(A) #n^~15^3R^,2025

(B) U^-7^R^,2025
(C) 7 31^, 2025

(D) Sd^NId-2 31^^^,2024

18. mcfrr ^ 31W^ t

t  ̂ HJKmfd4^l3Tf ̂
3RH # Tjf 11

(A) 12^-18

(B) IM-18

(C) 12^-29

(D) 1M-27

19.

20.

21.

22.

Cv C\

(18^ (IFRT^hr

'TW)

(i) #lcft^CTTPT 1. WK

(ii) 5ilHcO cidi 2.

(iii) feni^ f^e 3. ®rT^lM^

(iv) #T?ftwdt^TR?ft 4. -fe

Cs

(A) (i)-4, (ii)-3, (m)-2, (iv)-l

(B) (i)-4, (ii)-1, (iii)-2, (iv)-3

(C) (i)-1, (ii)-2, (iii)-3, (iv)-4

(D) (i)-2,(ii)-3,(iii)-4,(iv)-l

% wr toR? % ^ ^

(A) 2023-2024

(B) 2019-2020

(C) 2020-2021

(D) 2022-2023

'^<94H^dl^(ri1 %d^d Mid
■^chrR ^ "HBRciT 3RFr ^ ̂TTcit
t?
(A) INR50G
(B) INR 1,250
(C) INR 1,500

(D) INR 2,000

71^ ' wmift 13^ 3tr% ̂  ter ̂
sd

st?

(A) 2019
(B) 2020

(C) 2021
(D) 2022
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15.

16.

17.

Which of the following district of Madhya
Pradesh is not affected by Naxalism ?

(A) Balaghat

(B) Mandla

(C) Sidhi

(D) Vidisha

What percentage increase was there in the budget
allocated for the welfare of Scheduled Castes,

Scheduled Tribes and Other Backward Classes in

Madhya Pradesh in the year 2023 - 2024 as
■ compared to the year 2021 - 2022 ?

(A) 45
(B) 50-42

(C) 48-33

(D) 28-65

Consider the following statements of the Union
Home Minister in the meeting of Chief Ministers
of Naxal affected areas including Madhya
Pradesh:

1. The fight against Naxalism is in its final

phase.

2. He told the Chief Ministers of all Naxal

affected states to review anti-Maoist

operations once a month.

When and where were the above statements

given ?

(A) Bhopal —15th January, 2025

(B) Raipur — 7th January, 2025

(C) New Delhi-7th October, 2025

(D) Hyderabad - 2nd October, 2024

18. In the Schedule of the Indian Constitution,

subjects on which municipalitiesthere are
have been given the power to make laws.

(A) 12th-18

(B) nth-18

(C) 12th-29

(D) llth-27

19.

20.

21.

22.

Listn

(Name of the

Parliamentary

Constituency)

Match List I with List II and select the correct

answer from the codes given below:

List I

(Member of

Parliament from

Madhya Pradesh in

the 18th Lok

Sabha)

(i) Smt. Sandhya Rai 1. Sangar

(ii) Smt. Lata Wankhede 2. Shahdol

(iii) Smt. Himadri Singh 3. Balaghat

(iv) Smt. Bharati Pardhi 4. Bhind

Codes :

(A) (i)-4, (ii)-3, (iii)-2, (iv)-l
(B) (i)-4, (ii)-l,(iii)-2, (iv)-3

(C) (i)-l,(ii)-2,(iii)-3,(iv)-4

(D) (i)-2, (ii)-3, (iii)-4, (iv)-l

Madhya Pradesh Government started 'Child
Budgeting' in financial year for the
overall development of children.

(A)

(B)

(C)

(D)

2023-2024-

2019-2020

2020-2021

2022-2023

Under the 'Mukhyamantri Ladli Behna Yojana',
what is the current monthly financial assistance
provided to eligible women ?

(A) INR500

(B) INR 1,250

(C) INR 1,500

(D) INR 2,000

'Mukhyamantri Ration Aapke Dwar Yojana' was
launched in which year in Madhya Pradesh ?

(A) 2019

(B) 2020

(C) 2021

(D) 2022
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23.

24.

25.

27.

C\

t?

(A) ^®l<

(B)

(C)

(D)

3Tf^ % ̂ t' Wrrfw *r t ?

(A) dlld

(B)
N  ' Cs sD

(C) Jil<dicrii

P)

fd^K fd-Mlt?

(A) ®nfi
(B) 3iWTTT*t

(C) Ifdd fdcfx^

(D) -shield Achil-iK

26. "Mdl^fd

#3TtTd^d ch<cnt,^3=5^M^3-cdd<-MHdd

tcR^MT^t I MdlHfd ̂  37*R t 4i4dl(l %

3d<dlRlrdl t ̂  ̂ ̂ I" ̂
f^d^ilt?

(A)

(B) Idid-4d^.^

(C)

(D)

f^fRf^T^cT # ̂ ̂  WrT t TRFT 3T*>I<t
O

t?

(A) ilt^Mld

(B)

(C)

(D)

28.

29.

30.

31.

f¥=Tf^T%cr t ̂ *-FT WT7 Ti^fM ̂  ̂ t ?

(A) ̂ iter

(B)

(C) ■

P) cfs^T-^nfF

Wd" t % ■srflw ̂
3^ld;^'4chdl ̂  3H^1^ ?

nD

(A) ?ft3T*J^
P)

(C) (tTi-^ ^^-suril
P) dlld

*? cb^dlR^l % ^ ̂
Cs

(A) sit.TT^.^.^T^
(B)

(C)

p) %.

chi4=hi(l aitei^ % *f #
dfj^idd w^'t:

(A) ddK4)|A|H <^dHl

(C) 3l'flMdlR<4> mRm^HI % fd^tild ̂ 0«45 d^lHI
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23.

24.

25.

"Morale is the capacity of a group of people to
pull together persistently and consistently in
pursuit of a common purpose." This statement is
given by:

(A) Max Weber

(B) Alexander A. Leighton
(C) John A. Vieg

(D) Willoughby

Who has defined communication 'as the process
of meaningful interaction among human
beings' ?
(A) Lawrence Appley

(B) Luther Gulick
(C) A.D. Gorwala

(D) Dalton McFarland

Which of the following authors has given the idea
of 'consultative leadership' ?

(A) Chester Barnard

(B) Abraham Maslow

(C) Rensis Likert

(D) Douglas McGregor

"Promotion refers to the movement of an

employee from one position to another position
having a higher grade or a higher minimum
salary. A promotion involves increased duties and
responsibilities for the employee." This statement
is given by:

(A) L.D. White

(B) William G. Torpey

(C) Procter

(D) E.N. Gladden

27. Who of the following is the Chief Executive in
India ?

(A) The President

(B) The Prime Minister

(C) The Chief Justice of India

(D) The Speaker of the Lok Sabha

26.

28. Which one of the following is not a function of

staff agencies ?

(A) Planning

(B) Achieving goals

(C) Advising

(D) Fact-fmding

29. Who first realised the need for training for Public

Servants in India ?

(A) Shri Ashok Chandra

(B) President Johnson

(C) Lord Wellesley

(D) Warren Hastings

30. "Recruitment is the cornerstone of the whole

public personnel structure." This statement is

given by:

(A) Prof. L.D. White

(B) Stahl

(C) Dimock

(D) J. Donald Kingsley

31. According to Chester Barnard, the functions of

executive do not include ;

(A) Maintaining communication

(B) Formulating organisational goals

(C) Curbing the growth of informal phenomena

(D) Securing of essential services from

individuals
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32. to TTFl^ t ^ ̂  %

wcT w wfto Isto WT^: # W ̂ I ?

(A) gjHI^ ̂ d^Tl^h

(B) m^< «HIM 3TT^1^

(C)

(D) 5vil[q<; fctd=b

33. ^?Kdk^ftoR^31Jc^51 Rnf^fi^dt^to
Ri^m^%fsv^t?

(A)

(B)

(C) ̂ 3=^xto%^?TflF)^wf^wr

(D)

34. ^rton ^d^rtor ̂  ^rto #

WIT^ Wi\% % 15%

^to?

(A) 87<^i

(B) 89^^itoH^wto3if^dto ■

(C) 9i^^dtoR^TtoT3d^itoT
(D) 93^'^d^^^toR3d^TtoT

35. m^#tot^^Tp#^Tt^JltotW^tofafw
Tf^to^rm^-^Hlcfl
(A) ̂  ̂ miRu ^Tf^ fcltllRl=t)l ̂  8fliM ̂

m^%\

(B) I

(C) ̂  sd^T^^ <itrcriyH =h<cfl 11
(D) 5i{i %<i^<4 I

36. wrdto ddr snte ^ tt

^rton # 3Ttoriw to vfFT t

tot?

(A) ̂ -II-HIMfl=hdl

(B) ̂ -rv-wr^totoi^toRT

(C) ^-ix-toid

(D) »TFT-XI-%^3t(Wr%WW^

37. ■sfto t ̂  to 3d^tor t ^itoR'
toKtorsiT?
(A) ITOT, 1927

(B) -^itri^ixil, 1928

(C) ^to, 1929
(D) tot, 1931

38.

39.

40.

'Ttotto t sTTj^rto toRTi,
3d^o^=taicHct) 3Rft^ ^ ̂  oqcu^iiTT
JHPnf^d tto ̂  to«dt ^ ̂  Write
tot, tottottotortoitot i"
totto % tor 1 WT to% OT
terwt?
(A) ^to^^dtei
(B)

(C) todt^
(D)

Titoto srmtotor % to #, to: t toO  ' \D

t'^md^tow ̂  tWto ^ ̂dto'w
n3 C\

t?
(A) Wf Mifdfddid to (3Tmter wdtto

(B) Wi^ to? ttepRT teto (TOto^ W31
^ ̂iw)

(C) MiRif^chcri (crtoter
an^tetoO

P) totte drtet^ totoR (dddkHdi
utototeto)

to-to^^rtom-, i93i%to%^ttotete
11 to-w ̂  ttwtt to w tor w 2TT ?

(A) Bfto^i^sdteR^WH
(B)

(C) 6tovrRcfkwi?tw?fhTt^BwteT
P) ^w^crld t chTiltl ^5'HlRldl
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32.

33.

34.

35.

In which of the landmark judgements, the
Supreme Court held that the Indian President is
more or less like the British King ?

(A) Kesavanand Bharati vs. State of Kerala
(B) Shamsher Singh vs. State of Punjab
(C) Ram Jawaya Kapur vs. State of Punj ab
(D) Hargovind Pant vs. Raghukul Tilak

Article 51 of the Indian Constitution focuses on

which of the following principles ?

(A) Fundamental Rights
Promotion of international peace and
security

Distribution of powers between the Centre
and the States

Protection of cultural and educational rights

(B)

(C)

(D)

36.

Which of the Constitution Amendment Acts put a

ceiling of 15% on the number of Union Ministers
vis-a-vis the Lok Sabha ?

(A) 87th Constitution Amendment Act
(B) 89th Constitution Amendment Act
(C) 91 St Constitution Amendment Act
(D) 93rd Constitution Amendment Act

The constitutional validity of a law cannot be
challenged in India on which of the following
grounds ?

(A) It is beyond the competence of the
legislature passing it.

(B) It is repugnant to the provisions of the
Constitution.

(C) It infiinges on one of the fundamental rights.
(D) It is against the national interest of the

country.

The Indian Constitution as an instrument of social

and economic change is most eloquently reflected
in which of its Parts ?

(A) Part-II - Citizenship
(B) Part-IV - Directive Principles of State

Policy

(C) Part-IX - Panchayats

(D) Part-XI - Relations between the Union and
the States

37. A 'Swaraj Constitution' was considered by the
Congress at which of its sessions ?

(A) Madras, 1927

(B) Calcutta, 1928

(C) Lahore, 1929

(D) Karachi, 1931

38. "Political culture is that system which includes
empirical faiths, expressive symbols and values,
that define the circumstances and conditions in

which political action takes place."

Who has given the above statement regarding
political culture ?

(A) Almond and Powell

(B) Lucian Pye

(C) Sidney Verba

(D) Eric Rowe

39. In the context ofpolitical modernization, in which
book has Lemer said 'Modernization is a process

of rational change' ?

(A) Modem Political Theory

(B) Passing of Traditional Society

(C) Political Modernization

(D) Comparative Political Analysis

40. Which one of the following was not a promise of
Mahatma Gandhi as part of the Gandhi-Irwin
Pact, 1931 ?

(A) Suspension of Civil Disobedience
Movement

(B) Not to press for enquiry into police excesses

(C) Participation of Indians in British Indian
Government

(D) Participation of Congress in the Round
Table Conference
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41.

42.

43.

44.

45.

^ ̂  ̂ t WT ̂  ̂

srteK^t?

(A) 313^84
(B) 85

(C) 315^86
(D) 88

pMfdl^dt%Rh^cMTT^t%^Kd ^j.chkH<4)
f^¥tW3Tt % ^ TT^ % si-siN
'd41^ f^^qdl'4t%'^TT^ "<ch % ?

(A)

(B)

(C)

(D)

*.\'^ qil qil^TChl ̂ iI«i(H, Pinf^l^a

m f^4Mldlt?

(A)

(B)

(C) H^fl

(D)

fM^rter t ̂ fer ^ ^ ̂

^  t ?

(A) %T^HT8TTTm^

(B) m^\

(C) f^lHciyfMtry HW^l

(D) 3TTf.3TK. ̂ t^TTR^

mkH<^ (Federal) ̂  md ̂  ̂
(Union)%^^c^Rci =t)i d^ci RMf^l^a
1^ ^ #FTT W % ?

(A)

(B) ^jQcQ

(C)

(D)

46.

47.

48.

49.

50.

W1^ ̂ iF^Tt W 5iT ;

(A)

(B)

(C) fdRia d(l<+)l

(D)

Rnidl^d

t?

(A) ̂ l-ai^fllcich <5(ri

(B)

(C)

(D)

Wrf ̂ ^rt^xbr % ^

(A)" ?ft3Kf^
(B) ^.TJTT.g^ft
(C) ̂ 5FT5ITOTTO^

(D)

^TRcf % ̂rtor % ST^^TR Pnl^R^d t ̂
Rqlxli 3i|iil'| qii y,ch^l4^7^'%?
(A)

(B)

(C)

(D)

RnldR^d "ff ̂  eTt^ WRR ̂  "TO^R ̂

UtRiRM w, ̂ ^ TÔ R % ̂3^
3?k ^ 3nF f^qi "anrn" ̂ ', % ̂  ̂ h1\^i[^o
f%?Rt?

(A) RF.:go^t^
(B)

(C) ^^<1 Id«HH
(D) LJ<rdd A41
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41.

42.

43.

44.

45.

Which Article of the Indian Constitution

empowers the Attorney General to take part in the
proceedings of the Parliament ?

(A) Article 84

(B) Article 85
(C) Article 86

(D) Article 88

Who of the following holds that India is a unitary
state with subsidiary federal features rather than a
federal state with subsidiary unitary features ?

(A) K.C.Wheare

(B) D.D. Basu

(C) D.N. Baneijee

(D) W.T.Wagner

Allocation of work to a Minister of State with

independent charge is done by who of the
following ?

(A) The Vice President
(B) The Prime Minister

(C) The Cabinet Minister

(D) The Speaker of the Lok Sabha

In which of the following judgements, the

Supreme Court held that the Parliament has no
power to amend the provisions on fundamental
rights ?

(A) Golaknath Case

(B) Kesavanand Bharati Case

(C) Minerva Mills Case

(D) I.R. Coelho Case

The clue for describing India as a Union despite
being a Federation is taken from which of the
following Constitutions ?

(A) American Constitution

(B) South African Constitution

(C) French Constitution

(D) Canadian Constitution.

46.

47.

48.

49.

50.

The experiments conducted by F.W. Taylor were
intended to:

(A) Understand the motivation of workers
(B) Understand the process of mental revolution
(C) Discover the best way to carry out specific

tasks

(D) Understand the human behaviour in the
organisation

Which of the following is named as the
"Anonymous Empire" ?

(A) Political party

(B) Opposition party

(C) Pressure group

(D) Regional party

Who of the following was the most ardent
champion of partyless democracy in India ?

(A) Sri Aurobindo

(B) K.M. Munshi

(C) Jayaprakash Narayan

(D) Acharya Narendra Dev

Which of the following is not a function of the
Election Commission as per the Constitution of
India ?

(A) Superintendence of elections

(B) Direction of elections

(C) Adjudication of elections

(D) Control of elections

Who among the following has defined Public

Administration as "the action part of
Government, the nieans by which the purposes
and goals of Government are realised" ?

(A) F.W.Taylor

(B) Corson and Harris

(C) Woodrow Wilson

(D) Elton Mayo
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51.

52.

53.

54.

(A) ^ TJ^ ^
3TT^OT=h<HMii^^

(B) % -diM< Srf^chld ̂  Pl-ii^iui ̂

(C) Pi-^'I^ci

(D) 3^?ftq?ST ct,iixllRi]l ̂  ̂

o^dWTcT ^ ^ ^

^iT^flra' ^ Mf^ch
chin t ?

(A) qs^ l^crtu

(B)

(C)

(D)

^lq)<^ii^ ̂ oqq5i<^i<il fq^lMoii^?:

(A) mfecTT^^rta-M^

(B) ^^q)i-fq^1q ̂  ̂̂qRnqidi
(C) ^^qRti=hdi

(D) cTTf^^xTT^I^^mt^oq^^

III, 2008 %"5ITOl%^t:
S3 ' S3 ^

(A) ^I^Plchdl, wm3^

(B) MKc;f^Fdi, -Jiqiqi^ 3^ [q^sOq^yi

(C) ®[g-lqqqch, 3^ wMt ̂TT^
(D) ̂ i^^,cT^^SI?TT3^1^^q^

55.

1. 3ftwte^FT3^%

2. Htb yu||^^
S3

3. tidod % Ri^idl ̂

4. 3ftT^T^% 4dTl< yMH ̂  31^™"^

(A) %^l,3 3^4^f
(B) 1,2,3 3^4^1

(C) %^2,3 3^4^f

(D) %^l,2 3^4^t

56. "^^3^3Ti^T^^rtt^4Nr^3?f^chciH^^3Ttoi'

^  4^ 4i< ̂ 4)dl t,
f^dqji qiiH 3TTWff^^^^ % ?
(A)

(B)

(C)
V  / ^ S3

(D)

57. PiHf^ndd ^tII ^h^44)|(1 ̂ iRh

qdiqi t ?

(A) chief HI4^

(B)

(C) AcHH
(D)

58. ^ ̂ OT: ̂ ^ ̂

3d<4lRlr4 % 3iA^ ̂ rknt OT ^3=^^ ̂  3T^ft^

^ yicf^UHqi 51^ ̂  t" I ̂  ̂iSR f+^chi

t?

(A) ̂ H(1 Mel
(B) eJJKnf^
(C)

(D)

59. Wddd ̂ chid 4Hdl t?

(A) A+y ̂ «i<
(B) ■^'W.< qnl^
(C) chief
(D) [qe^H

60. "^H<chl(l Rj|M
<>HIHK qil -qc^lA 3TSjc|l I^tA^ ehl

% f^y. ̂ Vlq, 3TSRT^5Tpf|q"^JT^%^Kr^TTt
t r^wrtei^t?
(A) o^l^d

(B)
(C) Hi^fel f. fsAfct)
(D)
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51. The

'■ (A)

(B)

(C)
(D)

53.

54.

principle of span of control means:
An employee should receive orders from
one superior officer only
The control or supervision of the superior
.officer over the subordinate
The number of people being controlled
The number of subordinate employees that
an administrator can personally direct

52. Who is the author of 'The Intellectual Crisis in
American Public Administration' ?

(A) Woodrow Wilson
(B) Herbert Simon
(C) George F. Gant
(D) Vincent Ostrom

The behavioural characteristics of bureacracy
are:

(A) Rationality and Role-specificity
(B) Role-specificity and Impersonality
(C) Impersonality and Rule-orientation
(D) Rationality and System of rules

The key themes of Miimowbrook Conference III,
2008 are:

(A) Value, Relevance, Equity and Change
(B)

(C)

(D)

Accountability andTransparency,
Decentralization

Multi-disciplinary, Networked
Collaborative governance
Merit, Neutrality and Impartiality

and

55. The Classical theory is chiefly concerned with :

1. Formal organisation

2. Open system

3. Principles of organisation

4. Separation between organisation and largei
society outside

Choose the correct answer:

(A) Only 1, 3 and 4 are correct
(B) 1,2, 3 and 4 are correct
(C) Only 2, 3 and 4 are correct
(D) Only 1, 2 and 4 are correct

56. "No superior can effectively supervise directly
the work of more than five or, at the most, six
subordinates whose work interlocks." Whose
statement is this ?

(A)

(B)
(C)
P)

L.F. Urwick

Henri Fayol
Luther Gulick

J.D. Mooney

57. Who of the following has described authority as
the supreme coordinating power ?
(A) Karl Marx
(B) F.W.Riggs
(C) Max Weber
(D) J.D. Mooney

58. "Hierarchy consists in the universal application of
the superior subordinate relationship through a
number of levels of responsibility." Whose
statement is this ?

(A) Henri Fayol
(B) Luther Gulick
(C) L.D. White
(D) Fred Riggs

59. Who considers organisation as a cooperative
system ?

(A) Max Weber
(B) Chester Barnard
(C) Karl Marx
(D) Woodrow Wilson

60. "Public corporation is a public owned enterprise
that has been chartered under Federal, State or
Local Law for a particular business or financial
purpose." Whose statement is this ?
(A) L.D. White
(B) F.M.Marx ,
(C) Marshall E. Dimock
(D) Ferrel Heady
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61.

^<dl t ?

(A) snffe [cjchUH

(B)

(C)

(D) SRKfe^ ^ # 3Tk ̂  ̂  ̂
^HIHM y^^fri-uT

62.

Rnf^R^d 5j<d ̂ |3TT?
(A) ̂ flo ̂ tSL
(B) 5rsTq-f^^^
(C)

(D) ̂ ld=hdld^tf^^

63. 3TcRf^^ Xi^t^ftf^ ̂  f^Frf^lfw ̂  ̂ ^
^ydiK W^'t?

(A)

(B) ̂ TTO?^
(C)

(D) ̂ ftftrd"^^

64.

^ Mw ^Tfj^ i^d-dld ̂  t
^ WRT # 9ft ?

(A)

(B) h14h lj-^i(rl

(C) ^-sCl
(D) TT^%afrB=T

65. ^ ̂F?^' (fg^n # <^<i41fcl) ^
y«heMil ̂ ^aTT% ?
(A) cfi^rd

(C) 9filRfitf^

(D) cucrdiJi

2324 ^-A)

69.

66. %i%t3;9T9n9fcii41 -^factilui

(A) ?Tf^wf^%f^-^^5TRcT9TT^m%Wr

(B) Wfe ^ teFT W

WRt

(C) 9T9rn^^ tf^ iN-flfd t ̂  ̂ wr

wrt

67. (PD) ̂^^FfRr [HHfdR^d t %
oii\^ aid"^ yiH 1^917 ̂fTcTrt ?

(A) iilRb JHddd t

(B)

(C) idW dVt

(D)

68. fHHfdf^d f ̂ ftetcT ajdiftj]^ <M41Ri t
^Id«*idl

(A) adKdItfl

(B) a^ldiildltfl

(C) Hlddlcfl

(D) ̂ H<^Hldl41

'q1<.y.'S-^''5i^qcr'^Hif^f^<w' h-wi'^j f^ti^ f^<^%?

(A) Mtf^f^

(B) ii«j^ Rif^n

(C)

(D) elicit



61.

62.

63.

The concept of 'Kondratieff Cycles' seeks to
explain which of the following ? .

(A) Global economic development
(B) Probable success of diplomacy
(C) Evolution of feminist movement
(D) General tendencies towards war in

international system

In the West, especially in th.e Anglo-Saxon
tradition of liberalism, the idealist phase of
International Relations studies started

immediately after which of the following ?

(A) Cold War

(B) World War I

(C) World War II

(D) Global War on Terrorism

Which of the following is not a type of war in
international politics ?

(A) Hegemonic war
(B) Total war

(C) Comprehensive war
(D) Limited war

Who envisioned about "transforming
international relations from a jungle of chaotic
power politics to a zoo of regulated and peaceful
intercourse" ?

(A) Immanuel Kant
(B) Norman Angell

(C) Woodrow Wilson
(D) Robert Keohane

65. Who is associated with the concept of
'Diplomacy of Violence' ?

(A) Stephen Walt

(B) John Mearsheimer

(C) Thomas Schelling
(D) Kenneth Waltz

64.

66. The Realist Approach to the study ofInternational

Relations assumes that:

(A) Power and Interest are variable in content

across space and time

(B) Realism favours moral principles in global

politics

(C) Realism ignores war in global politics

(D) Realism condones international

organisations like the United Nations

67. The game 'Prisoner's Dilemma' (PD) has been

used to gain insight into which of the following ?

(A) Balance of Power

(B) Balance of Threat

(C) Arms Race

(D) Collective Security

68. Which of the following theories lays emphasis on

morality in international politics ?

(A) Liberal

(B) Idealist

(C) Feminist

(D) Constructivist

69. Who has authored the book 'War and Change in

World Politics' ?

(A) Henry Kissinger

(B) Robert Gilpin

(C) B.H.Carr

(D) Kenneth Waltz
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70. "SRTRH W 1^ ̂  ^ dWT ̂  1^ W

I  ̂  ̂ srrffe W ̂ t,
e\ '

^ ^ it?rT t ̂  TR^q-5^

^5^ WT r ̂  t ?

(A) dW^

(B) f^dl41

(C)

(D) Ml^-l Hl«t^

71. [^nldRan ̂  ̂  ̂t^-'^ft tt^

MfdHW =Q

(A) 3TTf^=hlR+ ^ ̂N!i<4=hdl % 3TmR ̂
f^qif^^ti

(B) wra^ Rf^^d toit % ^

^tl

Xl[^«f)K f I

(D) I

72. Pi^f^iRad ^ yc'TSir ^7^

t?

(A)

(B) 37Tf^3RFTRcn'WWR

(C) f^^ylrtil^H

(D) HMlRdi1#3TR^^^

73. Aw aite^iM #

TT^ iRTrof^ f:

(A)

(B) fd^FRid did tiRnfcid

(C) ̂ Rd?(^d d>n%3RfrTWT^t

(D) ̂  RdlRjd d>li ̂ a#phHui chicfl t

74. Rnl^l^d ^Alddt ?
(A) ̂ ^w5T]^d^ted?r-1^^w
(B) A^c^^^cid -cifliviMldH
(C) ^ 1^T^ - inf?^ ^ tr^

(D) 5IW^t^"fjrS—

75. ^ 1989 wnAsrAi 31WK, fAr^rf^Tter
sD '

A A 1AiA ^ 13^ 3TRTFT ̂ 7# KRT 'W

t?

(A) yiA-^iPid) A^3I^

(B) -iTlWlRl^

(C) ̂ ^RTcfT
(D) ̂ TJRT y.ci MK^^RIdl

76. ^Kd A ^TW% Mdd % t(1<H ̂ "dldd ̂ RlR^ %

(A) ̂ 5i^TWnd"^lW

(B) ttA^wk

(C) ^.am. aiAg^R

(D)

77. pHRiR^d A A anARr A d1=6md % f^PW ̂
aijwrr^sJt?

(A) <l^xi| HHjfciH smRt

(C) flAt^3mratewiKaTRiAT

(D) ̂ H<chlR^|3TRTAT

78. 1962 A Tjf^ ^rfAfA % 5T^
RnRiRddAA^A?

(A) A.At. f4dl41

(B) %.^Rnw

(C) 3TK.W.H^*TT

(D)
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70. "Finance and administration cannot be divorced.

Every administrative act has its financial

implications as man and his shadow." This

statement is given by:

(A) Lloyd George

(B) Willoughby

(C) L.D. White

(D) Morstein Marx

71. Which of the following is not a characteristic of

Weberian model of bureaucracy ?

(A) Official business is conducted need-based.

(B) The administrative agency functions in

accordance with prescribed rules.

(C) Officials are given matching authority to

carry out their responsibilities.

(D) Offices are the property of the public.

72. Which of the following is not a direct fimction of

budget ?

(A) Promoting economic growth

(B) Mitigating economic inequality

(C) Encouraging investment

(D) Increasing income of the citizens

73. According to Max Weber, bureaucracy is an

administrative body of appointed officials :

(A) excluding the elected ones

(B) including the eleeted ones

(C) subordinate to the elected ones

(D) superseding the elected ones

74. Which of the following pairs is correctly
matched ?

(A) Contingency Theory of Leadership - Victor
Vroom

(B) Life Cycle Approach to Leadership - Blake'
and Mouton

(C) Path-Goal Theory of Leadership - Martin
Evans and Robert House

(D) Managerial Grid - Hersey and Blanchard

75. According to the 1989*s World Bank document,
which of the following is not considered a key
dimension of good governance ?

(A) Public Sector Management

(B) Accountability

(C) Efficiency

(D) Information and Transparency

76. Who was the President of the Steering Committee
during the formation of the Constituent Assembly
in India ?

(A) Jawaharlal Nehru

(B) Dr. Rajendra Prasad

(C) Dr. B.R. Ambedkar

(D) Sardar Vallabhbhai Patel

77. The idea ofLokpal was suggested by which of the
following Commissions ?

(A) States Reorganisation Commission

(B) First Administrative Reforms Commission

(C) Second Administrative . Reforms
Commission

(D) Sarkaria Commission

78. The Committee on Prevention of Corruption
constituted in 1962, was headed by who of the

following ?

(A) J.B. Kripalani

(B) K. Santhanam'

(C) R.S. Sarkaria
(D) Vivian Bose
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79. t 3TTf^PfR 3fTO

XijlT^ ̂?RT) ̂  wnq^ t ?

(A)

(B) =t)wills'm

(C) ̂
(D) flmT^?;

80.

83.

wr % W ̂ ^ Blfw ̂  t "#rft^
es Os

%W'%^#din^d f+^MIillt?

(A) ̂

(B)

(C) dldH<h

(D) ̂ RFRft

81. TT^ % ̂  ̂ %

^nf^^mR' ?
(A)

(B) 3^^2MVI

(C) ̂ I^TFTVII

(D) 31^ VIII

82. 2lf ^Kcfl'4 SraRilTfi"

^ tM ̂ % whrr ̂  ̂ t:

1.

3.

(A)

(B)

(C)

(D)

3TTf^RR
N3

1,2,33^4

1,23:^3

1,23^4

2,33^4

2. 3TTtoR%^^ta

4. snf^RR^fl^Jr

^fgiP TT^ % to w t 3idi[tc{l4 3nffe
(NIE0)^3ftq^^Tte^^3Ti^RTf^j^^ZTT

W?

(A) ̂ to^^l973

(B) ̂ M^^I974
(C) ?Tmfto^mi973

(D) BTcTtto^^l974

84.

85.

86.

87.

88.

h1«M' ̂  I?c; di% ftRlH ^

^1-Scl I %, «t<i't:

(A)

(B) qiIu|>Tq

(C) 4dlel4^

(D)

^2024"^ 3iiii<^'j|M # 3iiqlf^d ̂ rgw
3TTO^^TT^29 (COP 29)^™(toH)W8TT?

(A) ̂ PTto,^,tonr

(B) ̂ rRtoR%toWTT?T

(C)

4iwi

(D) 5r<.d lq«:q%Riy,y.«t>>g<idi

3?5^d^ VOT#toi^
%^3^^WTOTt?

(A) 3g=E^ 49
(B) 3fg^^ 50
(C) 3ig^51^
(D) 31^=^52

^iKcr-Hicri<{lq '^t^\ ̂  toW torf^rf^ ̂  ̂

to tohr^ 3mm torw t ?

(A) Hl^d fy<5lid

(B)

(C) irmdi^d f^^id

(D) 3iTO"^ig^# tqciq Mg-q Ri^siid

^TK?r 3^ ^ ton # ̂toto ̂

tô t wryi: to ̂  ?

(A) 1945

(B) 1947

(C) 1949

(D) 1951
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m
79.

80.

81.

82.

Which of the following is a founder member of
ASEAN (Association of Southeast Asian
Nations) ?

(A) Laos

(B) Cambodia
(C) Brunei
(D) Singapore

Which city of India is designated as "City of
Music" in the latest UNESCO list ?

(A) Jaipur
. (B) Gwalior

(C) Lucknow
(D) Varanasi

Which chapter of the UN Charter deals with the
'Pacific Settlement of Disputes' ?

(A) Chapter V

(B) Chapter VI

(C) Chapter VII

(D) Chapter vm

During the 21st ASEAN-India Summit, Indian
Prime Minister Narendra Modi reiterated India's

support for:

1. ASEAN Unity

2. ASEAN Centrality

3. ASEAN Security

4. ASEAN Outlook

(A) 1,2, 3 and 4

(B) 1,2 and 3

(C) 1, 2 and 4

(D) 2,3 and 4

83. Which special session of the UN marked the
formal call for a 'New Intemational Economic

Order' (NIEO) ?

(A) Sixth Special Session 1973

(B) Sixth Special Session 1974

(C) Seventh Special Session 1973

(D) Seventh Special Session 1974

84. 'Project Mausam' which links different parts of
Indian Ocean littoral is a project of:

(A) Ministry of Extemal Affairs
(B) Ministry of Commerce.

(C) Ministry of Culture

(D) Ministry of Tourism

85. What was the slogan of the United Nations
Conference of the Parties 29 (COP 29) held in
Azerbaijan in 2024 ?

(A) Unite, Act, Deliver

(B) Together for Implementation
(C) Uniting the World to Tackle Climate

Change

(D) In Solidarity for a Green World

86. Which Article of the Indian Constitution
articulates the objectives of Foreign Policy of
India ?

(A) Article 49

(B) Article 50

(C) Article 5 lA

(D) Article 52

87. India-Maldives maritime boundary has been
demarcated by adopting which of the following
principles for the same ?

(A) Nautical Mile Principle

(B) Line of Actual Control Principle

(C) Medium Line Principle

(D) Free Access to High Seas Principle

88. In which of the following year did India and
Bhutan sign the historical Treaty of Friendship ?

(A) 1945

(B) 1947

(C) 1949

(D) 1951
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E^.\S

89. Rhfoiled

(A) Runi

(B)

(C) f^feTT 3RTra^%^#

(D) 1^011

PiwRiRsd #%^-"^fl" HxjMd %^mr

(A) ^W - 243^

(B) M^Md1#^k^-243^

(C) q-di^dl^3T^-243^

(D) ̂ d^dl % fdiJ R<^dHj;-243^

90.

91. H'KmRidii>df|'%"j|dd RMf^fiad =h^Hl ̂

fd-ciK =f>l[^y.:

1. ^ H'KMlidchl ^

2. <46 d'Kl^ I

dTi< cjii cQRiy,:

(A) 13^2^^f

(B) %^2^t

(C) %^l^t
(D)

92. (HHf^R^d

(A) 'Hl^di tiPnld y.«ti (dchM % I

(B) % yr^cti "f^I^ Ricrii ■4l'3ni ylnfd
dfdd 11

(C) fer ^Ttor 1^ # Mxji^dl to
Hll^chiaff OT" ^ ̂  4^-44 la^f ̂  ̂Af^d

^ 5n^ flTO TOft"

(D) Ridl 4l'3Hi tifAfcl
<1^ "Jllcfl ^ I

OT

93.

94.

95.

96.

2023 % TO ^fTT^ t TO #,

8TT?

(A)

(B) %FTT
(C) Ai4dl(l
(D) TOT^

TO "FI^ # TOt 2025 # %dA" sAi: ̂ TOT

(A) f^52a^^TTO09
(B) f^55a^^TTO10
(C) i%^53afkTOTlO
(D) f^54a^^TTO09

TO ■^, TOf ^ TOT lAnf^f^d # ^
TOTT t ?

(A) TOW

(B)

(C) FTTOM
(D) wtMI'

1. aTK.^.^M^
2. T^.T^. diH^"

3. aTTT.''ft. Hl^=h

4. ^klTO

Wl" TO ̂  TOT ^tf^TT

(A) 2,4,3,1

(B) 4,2,1,3

(C) 2,1,4,3

(D) 1,2,3,4
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89. Which of the follwoing roles is not discharged by
the District Collector in Madhya Pradesh ?

(A) As a District Development Officer

(B) As a District Judge

(C) As a District Administrator

(D) As a District Magistrate

90. Which one of the following Panchayats is not
correctly matched with its Article ?

(A) Constitution of Panchayats - 243B

(B) Composition of Panchayats-243C

(C) Duration of Panchayats - 243D

(D) Disqualifications for Membership - 243F

91. With reference to constitution of Mimicipalities,
consider the following statements :

1. Municipal Council is constituted for a

smaller urban area.

2. This is the first autonomous institution in the

urban area.

Choose the correct answer:

(A) Both 1 and 2 are correct
(B) Only 2 is correct
(C) Only 1 is correct
(D) Neither 1 nor 2 is correct

92. Which one of the following statements is not
correct with reference to the District Planning

Committee ?

(A) The District Planning Committee is a
Constitutional body.

(B) There is provision to constitute a District
Planning Committee in every district of
Madhya Pradesh.

(C) The District Planning Committee
consolidates the plans made by the
Panchayats and Municipalities of the district
and prepares a draft development plan.

(D) The recommendations of the District
Planning Committee are sent to the State
Government by the District Collector.

93. In the 2023 Vidhan Sabha Elections in Madhya
Pradesh, the highest voter turnout took place in
which of the following Assembly
constituencies ?

(A) Pichhore

(B) Sailana

(C) Keolari

(D) Barghat

94. How many Districts and Divisions were there in
Madhya Pradesh in January 2025 ?

(A) Districts 52 and Divisions 09

(B) Districts 55 and Divisions 10

(C) Districts 53 and Divisions 10

(D) Districts 54 and Divisions 09

95. In Madhya Pradesh, who among the following
selects the Chief Secretary ?

(A) The Governor

(B) The President

(C) The Prime Minister

(D) The Chief Minister

96. Arrange the following Chief Secretaries of
Madhya Pradesh in chronological order:

1. R.P. Noronha

2. H.S. Kamath

3. R.P.Naik

4. M.P. Shrivastava

Choose the correct answer:

(A)

(B)

(C)

(D)

2,4, 3,1

4,2, 1,3

2.1.4.3

1.2.3.4
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97. ^ yJiicrfl ^ 3N^

fent?

1. 3TFRfXT^1¥f^

2.

3.

4- i\Z^

dTK. chl Tl-Hri cQf^lJ^ ;

(A) 1 3;^ 4

(B) %^23:^3

(C) %^3 3^4

(D) %^1^3

98. =t5i4Hi[d«M ̂

1.

2. TI^STRTcI^

3. «|5tK ̂

4.

-iTK =ti| ■cl'^d ^Riu.:

(A) %^l^t

(B) %^nT^2^#t

(C) %^l,2TT^3^f

(D)

99. Rnfdl^d'^^^-WddHkq^i^N'flld^qTtqte

(A)

(C)

(D)

100. ldMfdf<ad#^^-Wi^4i(rM3TTc^3fkMl^d i}U

^*t?
(A)
(B)
(C) WicfrKFiFftfcRf) oiR^STT
(D) dl4idi(d4) o4d<^

101. Rnf^Hgd ^ f^an yi-dHkHc+i-dil-MlcH^)
•dHMIH % ̂ H«iRlcr^7^%?
(A)
(B)

(C) mi H(!!h
(D) IteT^

102. ^ 3RTOTT % ^ t
PiHRiHad ?
1. =M^rI■^I'M^i Pi'iidui ti-ciK [d^H (Cybernetics)

2. qiHMidl 11

3. s\<in\ ^ tiddd^q^i'M tinR^fd qTv^l< (541 1
4. ti<.«r)K cDi *i<sq «m4 ti^di <*1^1 P^f^a %«j^l4

>0 e\

4)<HI 11

(A) ^R^l,2 3^3B^t
(B) teT2, 3 3^4^t
(C) %^l,3 3fk4^f
(D) %^l,23^4^T^t
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97. Which of the following terms are not used by

David Easton in his speeialized vocabulary of

political system ?

1. Inputs and Outputs

2. Cybemetics

3. Reeeptors

4. Gatekeepers

Choose the answer from codes given below:

(A) Only 1 and 4

(B) Only 2 and 3

(C) Only 3 and 4

(D) Only 1 and 3

98. Which is/are correct about the concentration of

powers in the Executive ?

1. Legislative Inefficiency and Incapability

2. National Emergency

3. Increased Scope of Executive Intervention

4. Constitutional Amendment

Choose the correct answer:

(A) Only 1 is correct

(B) Only 1 and 2 are correct

(C) Only 1, 2 and 3 are correct

(D) All of the above are correct

99. Which among the following is not a traditional
approach to comparative politics ?
(A) Legal Approach
(B) Historical Approach
(C) New Institutionalism
(D) Philosophical Approach

100. Which of the following options is not included in
the types of traditional political systems described
by Almond and Powell ?

(A) Patrimonial System ,

(B) Centralized Bureaucratic System

(C) Feudal Political System

(D) Democratic Federal System

101. Who of the following scholars is not associated
with Structural-Functional Approach ?

(A) Talcott Parsons

(B) F.W.Taylor

(C) Robert Merton

(D) David Apter

102. Which of the following statements are correct

about the concept of the Neuropolitics of Karl
Deutsch ?

1. Karl Deutsch was inspired by Cybemetics.

2. Society is considered as a machine in it.

3. Deutsch emphasised on homeostatis rather

than equilibrium.

4. The main task of the government is to

exercise power rather than control

information.

Choose the correct answer:

(A) Only 1,2 and 3 are correct

(B) Only 2, 3 and 4 are correct

(C) Only 1, 3 and 4 are correct

(D) Only 1, 2 and 4 are correct
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103. 51^ % "f%^T T0 ^ "TOl" ■?
41i<h wRRt

w4Wf^TOr-'^'5R#T' ?

(A) 3^to1^

(B) i^TOf^m

(C) HJK Pt'lH

(D) ^f^^TOlro

104. TOr%^TOTT^^^^,lTOf^Ttert^^
;3^ TOTTOT % ^ ?

S3

(A) TOPTf^^.TT(T.^,TOP#TO.#.W^

(B) '^TFT'^

(C) TOIJ^TO.^.W^,TOlJ^^te1^r?TT
(D) TOP^%.W.^,TOP|f^T3^.TT.'^|^

105. f^d41 Ul3f ?

(A) 200

(B) 225

(C) 230

(D) 250

106. TrQTii^'5^'^5TRTTOr^|^dfk'^Tf^T^^''p2TPfl'
sft?

(A) 1 TO^, 1956

(B) 1 TO^, 2000

(C) 26 1950

(D) 28 TO^, 1968

107. *^iRich
wr 51^ TOTTOT ̂  TO ^ terr ?
(A) 1989

(B) TTT^, 1989
(C) 1989

(D) lit, 1989

108. TO 31^ ̂  ̂1371 fel ̂  |3TT

(A) 1956

(B) 2002
(C) 2000
(D) 1999

109.

<ri^ -iTH. =hl ■C1'4H :

^I ^n
C

(i)

(ii)

(iii)

(iv)

®v

^r^RrTTOf

f^TORlttBFfr
Ridiii 'fidH

1.

2.

3.

4.

\

(i^yn ̂ T*n)

yidcfl (^TTO)

(A) (i)-2,(ii)-4,(m)-l,(iv)-3
(B) (i)-4,(ii)-l,(iii)-3,(iv)-2
(C) (i)-3, (ii)-4, (iii)-2, (iv)-l
(D) (i)-l,(ii)-3,(iii)-4,(iv)-2

110. i^TO2023#16^TO3[^1%^TO%TO^%
TO t ^ 1^ TO W ?

Nd

(A)

(B)

(C) ^^TOTO

(D) RiOj^I ^lldH
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103. Which Municipal Corporation in Madhya

Pradesh received the 'Best Performing Urban

Local Body-Loan Performance' award under the

PM SVANidhi Scheme in the "Major Cities"

category ?

(A) Ujjain Municipal Corporation

(B) Indore Municipal Corporation

(C) Bhopal Municipal Corporation

(D) Jabalpur Municipal Corporation

104. Before becoming the Chief Justice of India, which

of the following were Chief Justice of Madhya

Pradesh High Court ?

(A) Justice J.S. Verma, Justice R.C. Lahoti

(B) Justice Dipak Mishra, Justice S.A Bobde

(C) Justice R.C. Lahoti, Justice Dipak Mishra

(D) Justice J.S. Verma, Justice S.A. Bobde

105. How many total seats are there in the Madhya

Pradesh Legislative Assembly ?

(A) 200

(B) 225

(C) 230

(D) 250

106. When were the permanent benches of the High

Court of Madhya Pradesh at Indore and Gwalior

established ?

(A) 1st November, 1956

(B) 1st November, 2000

(C) 26th January, 1950

(D) 28th November, 1968

107. When did the Madhya Pradesh High Court pass a
resolution to establish the Madhya Pradesh State
Judicial Academy ?

(A) February, 1989

(B) March, 1989

(C) April, 1989

(D) May, 1989

108. In which year was the present Madhya Pradesh
formed (post Chhattisgarh separation) ?

(A) 1956

(B) 2002

(C) 2000

(D) 1999

109. Match List I with List II and select the correct

answer from the codes given below:

List I List n

(Speaker) (Assembly)

(i) Yagyadutt Sharma 1. Thirteenth

(ii) Brijmohan Mishra 2. Seventh

(Hi) Ishwardas Rohani 3. Fifteenth

(iv) Girish Gautam 4. Ninth

Codes:

(A) (i)-2,(ii)-4,(iii)-l,(iv)-3

(B) (i)-4,(ii)-l,(iii)-3,(iv)-2

(C) (i)-3, (ii)^, (iii)-2, (iv)-l

■(D) (i)-l, (ii)-3, (iii)-4, (iv)-2

110. Who was unanimously elected as the Speaker of
the 16th Madhya Pradesh Legislative Assembly
in December 2023 ?

(A) Shivraj Singh Chouhan
(B) Narendra Singh Tomar
(C) Kamal Nath
(D) Girish Gautam
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111. ^ %

Rm dl^dl <1^1 Ri^slid ̂ stt ?
(A)

(B) •jfRefi^

(C) ̂
(D) ̂ .TT^T.friH

112. Pi^Ril^a ̂  ̂ "Rtb^ W % WRRF *1^ ̂  %
S3 ^ S3

3TtT^=5^^ Pl<d< yj|fd t" ?

(A) ̂

(B)

(C)

(D) ̂

113. RnRif^d ̂  ̂ R)<h R-^Kcf) % ST^^TK,
Rd^TilrHch ̂ ^ftm ̂  ^

e  va

t, «wiR) ^Ti%5
H[d/fHdi/<<ll41 %WT?it^^Ra elcfl %

<+<di 4-^dit?

(A)

(B) ^.Tj^.fer

(C)

(D)

114. ̂ 'Id % dldl\=ti ^ PlHldl^ad dt^ 3^

2. ^^^3RTRH

3. 5fd¥

4.

(A)

(B) %^2^t

(C) 3 3^4^Wit

(D)

115. f^RRrf^^%'R)¥R^R^^RT=HTsn"%''^HfdT

* ̂ t ?
(A)

(B) ^Ri<jRdl

(C)

(D) ̂

116.

B^I ^11
Os Cv

(i) 1.

(ii) 2. TiiT.TT^.tR

(iii) ^RsRSR 3.

(iv) ^'lRdd1=6dd 4.

(A) (i)-l,(ii)-3,(in)-4,(iv)-2

(B) (i)-4,(ii>3,(iii)-l,(iv)-2

(C) (i)-3,(ii)-4,(iu)-2,(iv)-l

(D) (i)-l,(ii)-4,(iii)-2,(iv>3

117. fdMldRad ^ 3FRFTT,
% ̂  t, ^[dchdl 3^ srteK

(A) iJIH«Q

(B)

(C)

(D) RTSTt

118. 'iy.Mnqaicii<^ «t)i qifld d4),^Iddidi 3fl< t<^d?jdi%cft^
m1Ri4i ^ armrltcr t,
sn^RctJ d1^il % -afield SidRRd R^'l'^di
RHT^TRTTt I W 3mKWT PlHfdf^d t ̂

(A) 3h.R(;1

(B) i3?T.^.tk

(C)

(D)
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111. Who of the following employed the Tabula Rasa
theory against the doctrine of Innate Ideas ?

(A) Hobbes

(B) John Locke

(C) Bentham

(D) J.S.Mill

112. Which of the following said that felicity "is a
continual progress of the desire from one object
to another" ?

(A) Rousseau

(B) J.S.Mill

(C) Hobbes

(D) Bentham

113. According to which of the following political
thinkers, the patriarchal family compels all its
members to live in hierarchical relationships,
since all power is concentrated in the hands of the
husband/father/master and the wife, children and

servants have to obey him ?

(A) Aristotle

(B) J.S.Mill

(C) T.H. Green

(D) Ambedkar

114. According to Hegel, Civil Society consists of the
following elements and systems or institutions of

the:

1. System of needs

2. Administration ofjustice

3. Police

4. Corporations

Choose the correct answer:

(A) Only 1 is correct

(B) Only 2 is correct

(C) Both 3 and 4 are correct

(D) All of the above are correct

115. Which of the following thinkers believed that
"Slavery and Male Supremacy" are natural ?

(A) J.S.Mill

(B) Machiavelli

(C) Aristotle

(D) Hobbes

t

116. Match List I with List II and select the correct

answer from the codes given below:

List I

(i) Sarvodaya

(ii) Emile

(iii) Leviathan

1.

2.

3.

List n

Hobbes

M.N. Roy

Rousseau

Jayaprakash(iv) Organised democracy 4.

Codes:

(A) (i)-l,(ii)-3, (iii)-4, (iv)-2

(B) (i)-4,(ii)-3,(iii)-l,(iv)-2

(C) (i)-3,(ii)-4,(iii)-2,(iv)-l

(D) (i)-l,(ii)-4,(iii)-2,(iv)-3

117. Who of the following embraced this argument,
"The State is linked to force, but equally
important is law, morality and right" ?

(A) Antonio Gramsci

(B) M.N.Roy

(C) Lenin

(D) Mao

118. The philosophy of New Humanism rests on the
eternal values of three fundamental elements of

reason, morality and freedom, which have been

stressed to be the underlying characteristics of the
life of the people in modem times. This concept
is related to which of the following ?

(A) Aurobindo Ghose

(B) M.N.Roy

(C) Jayaprakash Narayan

(D) Kautilya
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119.

B^i TT^n
e\ 0\

(i) 1.

(ii) ST^TFrar^^ 2.

(hi) ch^iiH 3. ^TT^

(iv) ^=hi^PlW^PlW1 4. ^\A <\^

e\

(A) (i)-l., (ii)-3, (iu)"4, (iv)-2

(B) (i)-4, (ii)-3, (iii)-l, (iv)-2

(C) (i)-3,(ii)-4,(iii)-2,(iv)-l

(D) • (i)-l, (ii)-4. (iii)-2, (iv)-3

120.

(A)

(C) s^KI

(D) dftwsiNi slKI

121. Rnf^R^d f^-4K4i^^^FT?rTf^

^ cl^ # Wt t ^ 31^1#
^ cl^ Wi^ # cTT^ 3^1: ^

4>I<{H ̂  t 3^ HHlRchl ̂  HHlRch WT^ t
sD

(A)

(B) #SFT

(C)

(D) Jfk

122.

t  3nffe ̂FTRcTT ̂  3^ ̂TFTF2r ^ TTFI%

1. iT^t '

2.

3.

(A) 13^3^^!

(B) 13^2^Wt

(C) ter2^t

(D) -dH^cfd

123. 'Wr^V5MMf^IIiTHWTTt^TR^^W5rt

3^m41 4r^d%%aiH|lJ<ydlt3^Wd<^

3ftT ^ ̂ 11" ̂

(A)

(B)

(C) cQ M<j)fd 4)1

(D) >l<j)Ri <=f)l

124.

% ̂TRFT % 3nfrr WT % 1

%  ̂iFTT ^rra" ̂  ̂ ̂

SLKI R-41 M4lt?

(A)

(B)

(C) ^.-0:^.111^

(D) ̂
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119. Match List I with List II and select the correct

answer from the codes given below:

List I List II

(i) Entitlement Theory 1. Nozick

(ii) Veil of Ignorance 2. Hannah Arendt

(iii) The Human 3. Marx

Condition

(iv) The Communist 4. John Rawls

Manifesto

Codes:

(A) (i)-l.(ii)-3,(iii)-4,(iv)-2

(B) (i)-4, (ii)-3, (iii)-L (iv)-2

(C) (i)-3, (ii)-4, (iii)-2, (iv)-l

(D) (i)-I,(ii)-4, (iii)-2, (iv)-3

120. The Arthashastra was rediscovered in modem

times by:

(A) Max Miiller

(B) R. Shamasastry

(Q D.D. Kosambi

(D) Romila Thapar

121. Which of the following political thinkers

understood that political conflict, so long as it is

not allowed to degenerate into violence,

contributes to the strength and health of a republic

and trains the citizenry in civic virtue ?.

(A) Hegel

(B) Bentham

(C) Machiavelli

(D) Green

122. Rousseau states that general will can only exist if

there is economic equality and for the general will

to be truly general, it must be general in its :

1. origin

2. object

3. form

Choose the correct answer :

(A) Both 1 and 3 are correct

(B) Both 1 and 2 are correct

(C) Only 2 is correct

(D) All of the above are correct

123. "Justice in the state exists when each class

maintains its appropriate position within society

and thereby ensures a harmony of the virtues of

wisdom, courage, and temperance." This

statement is related to which of the following ?

(A) Organic Theory of State

(B) Plato's Vision of the Ideal State

(C) Hobbes's State of Nature

(B) Locke's State of Nature

124. 'T^ature has placed mankind under the

governance of two sovereign masters, pain and

pleasure. It is for them alone to point out what we

ought to do, as well as to determine what we shall

do." This statement is made by which of the

following ?

(A) J.S.Mill

(B) Jeremy Bentham

(C) T.H. Green

(D) Hegel
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3^: ̂  3TRhf^ W 8TT ?

(A) i^, 1960

(B) 1962

(C) 1961

(D) ̂ ij^, 1955

126. "3TT^?^T^ % 3TOK, ozrf^ ̂  ̂ ̂TPfeM #
sD '

^dl ̂—'1Mir<«til iflRclCl '^<^'\ cQ

^ ̂  % 1^ %r wrte ^ tiM ̂  %

idy.wyici HRh41^y^l w«iiRicrt?

(A) ̂ 3#ri^

(C) TTTf®R¥5m?^T^
P) TTlf^^

127. RHldRdd ^ ^ aiOT %

^ TT^ ^ f TT^tfcl 1^ t

t? "
(A)

p) sTiHJH

(C) TTTf|^f^T5TF3nq7TT|3TT
P) ̂1-1

128. t^5^WW^3mTW^cltoTrraTT?iT-1^^

5TT ir^ ̂^5% % w ̂  (^it 'en# t ̂
^  ̂ t ̂rfbrifw t ?

(A)

P) #ir
(C) %mf#T
P) fw

129. TTPRT t % wnte ^

'Tfi^wrr't?

(A) ?T^
P) T^girlw

(C) ml

p) Onicr-^ ̂ cTiI^h

130. jidHkHdi iM^lfd m
^^clH crl<?2T«Ml HMl'n^%?

(A) mi ̂<-cHI#^drrHlcH=+5 id#tju|

(C) oijRhJId

p) cQ acm =t5<.Hi

t?

(A) ■^"dd h1?^
p)

(C)

p) "^(1 AcQ

132. TT^r.f. ■qn^%<^dHlrHch iN-flfcldi
3TmR % t idMidi^d ^ ^
^ilf^d t/t?
1. ^^'HlRlcll—3nT^^3TRFT

2. — 3R^ 3TFTFT

3. oiic^^icil=h _ yIclRt^kM=t) 3TFTFT

4. c|<^hH — ̂ icfl 3inih

(A) ^=id 1
P) %^13^2
(C) %^1,23^3
p)

133. Rnf^f^d ^ f^ " 'f^^' ̂  #
Mc^jldd Mrr%^mi41 4)KU| t" ?
(A) 4)le?HlcHl
P) ^
(C)

(D) m#
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125. Where and when was the First Summit of the

Non-Aligned Movement (NAM) held ?

(A) New Delhi, 1960

(B) Cairo, 1962

(C) Belgrade, 1961-

(D) Bandung, 1955

126. "By necessity, individuals need two guides — the
Pope to lead the citizenry to eternal life and the
Emperor to guarantee earthly happiness." The
above lines are attributed to whom ?

(A) Dante Alighieri

(B) Thomas Aquinas

(C) Marsilius of Padua

(D) Martin Luther

127. Which of the following thinkers has integrated
Aristotle's moral and political views into a
theological framework or complemented them
with a teaching based on Revelation ?

(A) Augustine

(B) Thomas Aquinas

(C) Marsilius of Padua

(D) John Calvin

128. Who has defined the concept of freedom as
rational self-direction or living with the'one true
faith (rather than doing what one wants) ?

(A) Immanuel Kant

(B) Hegel

(C) J.S.Mill

(D) Fichte

129. Who is of the view that the idea of social justice

is a "mirage" ?

(A) Hayek

(B) Adam Smith

(C) Robert Nozick

(D) Ronald Dworkin

130. What is considered the most personal and perhaps
the most noble goal of comparative politics ?

(A) Comparative analysis of power structures
(B) Explaining the workings of political

institutions

(C) Attainment of philosophical self-knowledge
leading to increased personal growth and
maturity

(D) Comparing the stability of systems of
governance

131. Who is considered as the philosphical father of

deliberative democracy ?

(A) Chantal Mouffe

(B) William H. Riker

(C) Jurgen Habermas

(D) Gerry Mackie

132. Which of the following is/are correctly matched
regarding S.E. Finer's four-fold basis of
comparative political study ?

1. Participation — Exclusion dimension

2. Coercion — Persuasion dimension

•  3. Order — Representativeness dimension

4. Present goals — Future goals dimension

Choose the correct answer:

(A) Only 1

(B) Only 1 and 2

(C) Only 1,2 and 3

(D) All of the above

133. Who has given the following statement :

" Tdeas' and 'not the material conditions of

production' are the effective causes of

revolution" ?

(A) Karl Marx

(B) Lenin

(C) Stalin

(D) Mao
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134. ̂ Kd «|H[ ?

(A) 1942

(B) 1945

(C) 1947

(D) 1950

135.

1. y^iiKlvr^ 1956^3Tfelc^t

3TRTI

2. 1956

^ 3TRhf^'^3Tr I

3. WriTflpW^12TT^All

(A)

(B)

(C) %^3^t

(D) %^13;^3?f^t

136. WR ̂  ̂ tM OT 2025 t

(AI) ^

(A) mjh iM 3d1W%<it^Mid

(B)

(C)

(D)

137. y^iii dmd RnRiR^d

(A) ̂

(B) d

(C) #

(D) ̂

138. f^nf^f^d <4Tld cild ̂ 1 did ̂ arf^cti

(A) jjqiHi •^<"1 ̂ "Wi,

(B) dm, defter dn

(C)

(D)

139. WT dmR ̂WT % (1952-1956) % im
dw Ti^ % dd ̂ ?

(A) d^erdHMl^uid/dH

(C) d. i(ich< 4^ieri ̂ iiH? .

(D) d.KT^WR

140. fm xm % wpud %

3RSm ̂  ^tfdr:

(A) d. TT^dk, d. ̂OTT mw, d.

S3 » S3

(B) dTR^immntTT, dKd^

31^,

(C) d m d. mf Tf^dk, d. %HK

^ ̂  iT^ ardt wr

(D) d Tdw 315^:, d TR d.

141. R^3I^Tld33aifllf^,2000#W71%akPkr
S3 >

(A) dT3^.d.#HFft

(B) dig^Wkktd

(C) efkdtldkTT^

(D)
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134. India became a founding member of the United
Nations in:

(A) 1942

(B) 1945 '

"  (C) 1947

(D) 1950

135. Consider the following statements and identify
the correct answer from the codes given below :

1. The State of Madhya Pradesh came into

existence on 1st November, 1956.

2. The first Assembly Session was held on

31st December, 1956.

3. The first Cabinet had 12 Ministers and

11 Deputy Ministers.

Codes:

(A) Only 1 is correct

(B) Only 1 and 2 are correct

(C) Only 3 is correct

(D) Only 1 and 3 are correct

136. Artificial Intelligence (AI) Action Summit was

co-chaired by the Indian Prime Minister Narendra
Modi in February 2025 with the :

(A) President of USA

(B) President of France

(C) President of Russia

(D) President of Italy

137. Before its merger with Madhya Pradesh, Bhopal

was w;hich of the following type of State ?

(A) A

(B) B

(C) C

(D) D

138. Who among the following have been the Chief
Minister of Madhya Pradesh three or more than
three times ?

(A) Shyama Charan Shukla, Aijtm Singh,
Shivraj Singh Chouhan

(B) Arjun Singh, Dwarka Prasad Mishra,
Motilal Vora

(C) Shivraj Singh Chouhan, Aijun Singh,
Prakash Chandra Sethi

(D) Shyama Charan Shukla, Dwarka Prasad
Mishra, Shivraj Singh Chouhan

139. Who was the Chief Minister of the former state of

Bhopal during the tenure of the first Vidhan
Sabha (1952-1956)?

(A) Shri Sultan Mohammad Khan

(B) Shri Laxminarayan Agarwal

(C) Dr. Shankar Dayal Sharma

(D) Dr. Rajendra Prasad

140. Identify the correct descending chronological
sequence of the Governors of the State of Madhya
Pradesh:

(A) Dr. Bhai Mahavir, Dr. Balram Jakhar, Dr.
Mohammad Shaft Qureshi, Sh. Rameshwar

Thakur

(B) Dr. Balram Jakhar, Sh. Ram Prakash Gupta,
Sh. Rameshwar Thakur, Sh. Ram Naresh

Yadav

(C) Sh. Ram Prakash Gupta, Dr. Bhai Mahavir,
Dr. Mohmmad Shafi Qureshi, Kunwar
Mahmood AH Khan

(D) Sh. Rameshwar Thakur, Sh. Ram Naresh
Yadav, Dr. Balram Jakhar, Dr. Bhai

Mahavir

141. Who was the Chairman of State Advisory

Committee imder Section 71 of the Madhya

Pradesh Reorganisation Act, 2000 ?

(A) Sh. N.B. Lohani

(B) Sh. Raghuvendra Singh Sirohi

(C) Smt. Nirmala Buch

(D) Sh. Sharad Behar
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142. PihI^I^ci ̂  ^ oi<=iR^ :

2. ^ ^5i4=ft, ^ WTR

3. ^rfw^ t "3TTi3l^ w

4. crar

wi^'

(A) 1,3,4,2

(B) 1,2,3,4.

(C) 2,1,3,4

(D) 4,3,1,2

143. ̂ <W4idM|({l fHHfdR^cl

(A) SbtMsii^

(B) Js^rfl ̂ cn

(C) f.T3:^. TO

(D) ̂ Irofew

144. ?ftcrTOiTOr:STT:
"O ^

(A)̂
 e\ \3

(B)

(C)

(D) <4'S.

145. %Fi%TOr%"%^tTOrwr-^sTR^te^

(A) TOfe

(B) ̂

(C)

p) Rif^d

146. lTO^#vrT*K!^#TT(INA)^^T^Tjgq-f^
WSIT?

(A) TOTR

(B) TOT

(C)

(D)

%^^mROTTt?

(A) ̂ dKdlcfl

(B)

(C)

(D)

148.

^ 3^^ dill ̂ dd #' ?

(A) %.

(B) ""Tf^TTOC

(C) %.T3^.^tlw

(D)

149. PlHldRddt^fTO^)^4 ^ WK3Tk^lf%^

W  ̂ 3BPTTift TOT W t ?

(A) aT^MtTMf^yTB^(OAS)

(B) 3R^^(AL)

(C) 3T5^^(AU)

(D) 2^r^^T^(EU)

150. 1%^TOT%"^-i^T^TOTT^TOf^%f^TO^37^

(A)

(B) ̂ ^to^trNt

(C)

(D) Mfui4^<
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142. Arrange the following in chronological order: •

1. President Roosevelt's "Four Freedoms"

message to the Congress

2. Tripartite Pact signed in Berlin between

Germany, Italy and Japan

3. "Arcadia Conference" in Washington

between Roosevelt and Churchill

4. "Treaty of Alliance" between the UK and

the Soviet Union and Iran

Choose the correct answer :

(A) 1,3,4,2.

(B) 1,2,3,4

(C) 2,1,3,4

(D) 4,3,1,2

143. The idea of Anarchical society is associated with

who of the following ?

(A) Hans Morgenthau

(B) Hedley Bull

(C) E.H. Can-

(D) John Mearsheimer

144. Cold war was basically a/an :

(A) Diplomatic war

(B) Cultural war

(C) Economic war

(D) Geographical war

145. Who said that "Globalization is the time-space
compression" ?

(A) Ferguson

(B) Harvey

(C) Giddens

(D) Gilpin

146. In which country was the Indian National Army
(INA) first formed ?

(A) Japan

(B) India

(C) Singapore

(D) Germany

147. For which of the following, power is a central
concept in international relations ?

(A) Liberals

(B) Realists

(C) Idealists

(D) Constructivists

148. Who said that "Doctrine of Non-Alignment had a
contextual significance and was not an enduring
ideology" ?

(A) K. Subrahmanyam

(B) K.M. Panikkar

(C) J.N.Dixit

(D) S. Jaishankar

149. Which of the following regional organisation has
been described by Palmer and Perkins as a
Pioneer of International Regionalism ?

(A) Organisation of American States (OAS)

(B) Arab League (AL)

(C) African Union (AU)

(D) European Union (EU)

150. Who said that "Non-Alignment can provide the
meaning to the idea of Power Bank" ?

(A) John Foster Dulles

(B) Talcott Parsons

(C) Henry Kissinger

(D) K.M. Panikkar
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